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(Sem-V (New Syll.)) Diploma Exam 2024 (Odd) 4
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Water Resources Engineering, (2015503)

- All questions are compulsory. (1} Wy 3ifyard )
- Marks are mentioned on the right side of each question. (3 Wt oy & grg oy aifra f5a 2

Group (A) (YU -¥)
Q.1 Answer all questions as directed. (2x10=20) | Marks | CO | BL
Tt wal & IR E)
a)  The maximum irrigation requirement of rice crap is exhibited by its: - 2 2 2

(Maximum Duty value/Minimum Duty value)
a9 P B B GaUS Ria Y sirawade frad gr1 veki e 27
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b) At which point in the entire canal system the duty of water will be more? 2 2 2

(Head of the Minor/Head of the Distributary/Head of the Branch/ Head of the
Water-course)
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¢) The Thiessen polygon method involves: - 2 1 2
(Dividing the area into triangles/Dividing the area into polygons /Connecting rain
gauges with straight lines /Connecting rain gauges with curves)
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d) The areal distribution characteristics of 2 storm of given duration is reflected in 2 1 2
which relationship? J
(Depth — volume relationship/Depth — area relationship/Depth — intensity
relationship/Depth — duration relationship) e
feht fAfga 31aftf & BT B mmmmmﬁm.ﬁ%
(TGRS - ST et ATERTS - A FEUATERS - el eUATERTS - Sfaf Waier)
€) The safety valve of a dam is it’s f 2 3 1
(drainage gallery/inspection gallery/spillway/outlet sluices)
feit iy @1 e ared IudI el
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' 1) is the arrangement made near top of dam for passage of 2 3 I
excess water from the reservoir, |
Sluice way /Gallery/ Abutments/Spillway)
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Drip irrigation is most effective for___ ‘
(High rainfall arcas/Sandy soils/Cohesive soils)
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In well irrigation, what docs the term "yield" refer to: -
(Quantity of water/Quality of watcr/Speed of waler flow/Depth of water tablc)
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The arrow in the diagram shown below represent?
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(Divide Wall/Plan of Fish Ladder/Scouring Sluices/Canal Head Regulator)
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If the R.L of a canal bed level and high flood level of drainage are 212 m and 210 m

respectively, then the cross-drainage work will be: -

(Syphon/Super passage/syphon aqueduct/ Aqueduct)
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Group (B) (U4l

Answer all five questions. (T4 GTa U3 & IR <))
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Define the term rain gauge. Briefly explain advanthges of Symon’s rain gauge.

aufATd ug @1 uRHIid 3% | T1g & aufHTd & arHl @ wad J It
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Q.2

Explain Area-Capacity curve and write its application.

ST -&Hdl Igh P RS B U1 THHT ST ford |

: Differentiate bcftwccnvsurfaﬁ:c and sub-surface irﬁggtion.
 gael e vd Suvael R & dfa iR fafag)
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Briefly describe the following term:- '

op period (ii) base period (iii) Time factor (iv) Capacity Factor
1 02 1 98 B o R -
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Q4 Compare between the earthen dam and gravity dam with respect to foundation,
seepage, construction and maintenance,

m,ﬂ%m.mmmmmﬁmm;mmmmm%m
g OR (3{Yd)

Describe the role of cut-off provided in the carthen dam?

oy & i A W ) € e-offeh ) aftvt abt auf B

4 Q5 Define percolation tank and write its application.

SaaT O ) gRMIRYG B T T e ferd |
OR (3{ydm)
State the advantages and disadvantages of well irrigation method.

Ft & Ried Ay & any wd gl fafe|

Q.6 State the differences between weir and barrage.

R TE WS 7 R ARy |
OR (SIYdT)
State the functions of head regulator and cross regulators scparatcly.

23 TR IR HIY W[AeR T FAI B TS ferd|
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Answer all five questions. (%1 T e IS ) 6x5=30 6 1

Q.7 Bricfly explain the three methods of determination of average depth of rainfall over
the arca. |
. oAy Aavi ol siwd Tews fuiie exa @l - il wt S—— —

OR (3¥Yd0) :
Explain the hydrological cycle in nature with the help of a neat sketch, indicating its
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8  Discuss any two types of surfacc irrigation methods with ncat skctches, stating their
~ merits and limitations.
W%Mdaﬂﬁmm@ﬁa%maﬁmwmw
SR FAG FarEy
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al is designed to supply the irrigation needs of 1000 ha of land growing rice of 6

ays base period and having a Delta of 126 cm. If the canal water is used (o
 wheat of basc period 120 days and having a Delta of 60 ¢m, the arca that can

gatcd is”?
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Q.9

Q.10

Q.11

Sketch the typical cross-section of gravity dam and briefly explain their
components. .
me$mm.mmmmm 3R 77 UeH! B waa |
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OR (3YdT)

Examine a gravity dam for its stability for the condition, "when the reservoir is
empty" with discussing on the forces that influence such a condition,

qﬁzgmaﬁ@waﬁmw@rﬁﬁmﬁ T STy WTelt it T
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Drip method of irrigation and writc its merit and demerits.

mﬁmmmmmmm@mmﬁn
OR (34d0) |
Explain the sprinkler method with sketch and write its merit and demerits.

mmﬁmﬂﬁammmm ay ferfad|
Exphin the advantage of canal lining and name the materials that can be used for
ma@n%mmwmmﬁmmaﬂaﬁmmé
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OR (3Y4qI)
Briefly explain various types of cross drainage works.
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